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Pre Calculus

Unit 6: Trigonometry Review Sheet

Sketch the following angles on the grid
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3.If sinf= 2 and @ is in Quadrant II, find:
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4. Angle & is in standard position and (4,—7)is a point on the terminal side of £. Find:
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6.If sinx = —;L, and % < x < =, find the value of sin2x. g 7At S\MX::_‘}
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8. If tan@——u— and sinf >0, find cos— 6’
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10.If tan x = —-i- and cosy = 753— and x terminates in quadrant II and y terminates in K S’ﬁ%‘ B

quadrant IV, find the value of tan(x — by
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Find the exact value of the following 3 j_?‘ ?‘
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Find the point on the unit circle that terminates with the following angles:
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Sed= cﬁSco.

Express the following as a single trigonometric functions
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Solve the following equations for all values of & such that 0 <8 <360
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Graph one full cycle of each of th?fo owing-trig-equitions
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Write the equation of each of the following trig graphs.
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